


 

2 
 

 



 

3 
 



 

4 
 

 



 

5 
 



 

6 
 



 

7 
 



 

8 
 



 

9 
 



 

10 
 



 

11 
 



 

12 
 



 

13 
 



 

14 
 

 



 

15 
 



 

16 
 

  

 

 

 

 

 

 



−



 

18 
 

https://oge.sdamgia.ru/
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α β
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АВ⃗⃗⃗⃗  ⃗ +  А1𝐷1
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗; б) АВ⃗⃗⃗⃗  ⃗ +  𝐴𝐷1

⃗⃗ ⃗⃗ ⃗⃗  ⃗; 𝐷𝐴⃗⃗ ⃗⃗  ⃗ +  𝐵1𝐵⃗⃗ ⃗⃗ ⃗⃗  ⃗.
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АВ⃗⃗⃗⃗  ⃗

• АВ ⃗⃗ ⃗⃗ ⃗⃗   и 𝐶𝐷⃗⃗⃗⃗  ⃗

АВ⃗⃗⃗⃗  ⃗ и 𝐷𝐶⃗⃗⃗⃗  ⃗

• 

𝐷𝑀⃗⃗ ⃗⃗ ⃗⃗  

 



 

32 
 

• 

• 

• 



 

33 
 

https://mnogogranniki.ru/estestvennye-mnogogranniki.html
https://mnogogranniki.ru/estestvennye-mnogogranniki.html
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https://mnogogranniki.ru/
https://3mu.ru/?p=70650
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∙ ℎ

1

2
∙ ℎапоф
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2𝜋𝑅𝐻
2𝜋𝑅𝐻 +

2𝜋𝑅2

2𝜋𝑅(𝐻 + 𝑅)

𝜋𝑅𝐿
𝜋𝑅𝐿 + 𝜋𝑅2

𝜋𝑅(𝐿 + 𝑅)

𝜋𝑅2
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𝜋 см, 

 

 

 

 𝑪 = 2𝜋𝑅
2𝜋𝑅 𝜋

𝜋𝑅2 𝜋 см2

2𝜋𝑅𝐻 2𝜋 ∙ 4 ∙ 6 = 48𝜋 см2

2𝜋𝑅𝐻 + 2𝜋𝑅2 48𝜋 + ∙ 4𝜋 =

56𝜋 см2

∙ ∙ 6 = 48 см2

∆ОМС

√7

√7
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 α

∙ √7

∙ 6 = √7

 

2𝜋𝑅𝐻 + 2𝜋𝑅2 π∙
2 ∙ 2 + 2𝜋 ∙ 4 = 16𝜋 см2

 

2𝜋𝑅 = 8; 𝑅 =
8

2𝜋
≈ 1,27 см

 

∠𝐷𝐴𝑂 = 30
∆A𝐷𝑂

Из ∆A𝐷𝑂

3√3

𝜋𝑅𝐿 𝜋 ∙ 3 ∙ 6 = 18𝜋 

𝜋𝑅𝐿 + 𝜋𝑅2 18𝜋 + 9𝜋 =  27𝜋 
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∆𝐴𝐷𝐶

1

2
𝐴𝐶 ∙ 𝐷𝑂

1

2
∙ 6 ∙ 3√3 = 9√3 дм2

𝐷𝑁

𝐷𝑂
=

𝑟

𝑅
=

1

2

𝑟 =
𝑅

2
=

3

2
 дм

𝜋𝑟2 = 
9𝜋

4
≈ 7дм2

∆𝐷𝐴𝐵
∠

∆𝐷𝐴𝐵

𝐴𝐷2√3

4

36√3

4
= 9√3
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∆ВАС − прямоугольный; АВ =  Н =
5 см

𝜋𝑅(𝐿 + 𝑅)

√АВ2 + АС2

𝜋 ∙ 12 ∙ (13 + 12) = 300𝜋 см2.

 

∆ОО1Р

√𝑅2 − 𝑑2

2𝜋 π

Sпов =  4𝜋𝑅2 π

• 

• 

• 

• 
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 2𝜋𝑅𝐻

 𝜋𝑅(𝐿 + 𝑅)
 

 Sпов =  4𝜋𝑅2
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✓ 
✓ 
✓ 
✓ 

 √−19
3
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𝑦 = √3𝑥 − 9
6

3 57 ∙ 119: 557 √48 ∙ 162
5

4

√25𝑎3

5

√15 − 2𝑥 = 3 

 √52
4

𝑦 = √2𝑥 − 4
4

3 310 ∙ 1012: 3010

б) √20 ∙ √5 
4

√24𝑎33

5

√19 + 5𝑥 = 2
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𝑦 = 4𝑥 𝑦 = (
1

4
)
𝑥

 23𝑥 = 128
 5𝑥 ∙ 2𝑥 = 0,1−3

 √2
𝑥

∙ √5
𝑥

≥ √10
4

 

𝑦 = 3𝑥 𝑦 = (
1

3
)
𝑥

 32𝑥 =
1

27

 (√3
3

)
2𝑥

∙ (√9
3

)
2𝑥

= 243

 11−7𝑥+1 ≤ 121−2𝑥−10

 log2 24 ∙ log5 52

log3
1

27
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𝑦 = log9(8𝑥 + 9)
3
𝑦 = log2,6 𝑥
4 log1

7

(7 − 𝑥) = −2

log3(8 − 6𝑥) ≤ log3 2𝑥

 log8 8−3 ∙ log6 62

  log1

3

81

𝑦 = log6(4𝑥 − 1)
3
𝑦 = log3

4

𝑥

log8(5𝑥 + 47) = 3

log5 𝑥 > log5(3𝑥 − 4)
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́ ́

𝑟 = 𝑎𝜑

φ

log𝑎 𝑟

φ
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(0,3)3
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𝑊(𝐴) =
𝑘

𝑛

𝑃(𝐴) ≈ 0,07

· ·

· ·
· · ·

· ·
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